Etelbrock

SUPERCHARGERS

“y

Edelbrock Supercharger
2019-2021 GM Truck 1500 5.3L and 6.2L
Excluding 2019 Silverado LD and Sierra LDT
Part #15665, 15666, 156650 and 156660



Edtelboock

SUPERCHARGERS

WARNING!

The supercharger bypass valve is factory installed and adjusted intended to be vacuum operated only. DO NOT
move the solenoid actuator lever by hand or adjust the stop point. Moving the lever manually will damage the
solenoid and the system will not function properly. Damage to the bypass assembly from manual movement will

not be covered under manufacturer warranty.




Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

Edelboock

SUPERCHARGERS

INTRODUCTION

Thank you for purchasing the Edelbrock Supercharger System for the 2019-2021 GM 1500 Trucks. This system utilizes R2650 Eaton Gen VI TVS
Supercharger rotors housed inside of our Dual Pass-3 Core intercooled rotor case. Paired with bolt-on runners, and a redesigned lid, this new package
will fit under the factory hood with no modifications to the stock body or hood. The supercharger features an inverted design which expels air
upward and through the first pass of the intercooler. Air pressure then builds in the plenum, before being drawn down through the intercooler core
another time.

The supercharger is 50-state emissions legal, and includes a 3-year 36,000 mile warranty, where applicable, so there are no worries when installing
on a brand new vehicle. Tuning the vehicle to specification different from those specified by Edelbrock, LLC will void the warranty, may cause engine
damage, and will make the vehicle no longer compliant to emissions regulations,

TOOLS AND SUPPLIES REQUIRED

@ Ratchet and Socket Set including but not limited to: 7mm, 8mm, @® 50/50 Coolant Mixture (4.5 quarts)
10mm (standard, deep and swivel), 1Tmm, 12mm, 13mm and ® Side Cutters

15mm ® Torque Wrench
@ Breaker Bar: 1/2” ® Pliers OR Hose Clamp Removal Tool
@ Allen Wrenches: 5mm, 6mm @® Blue and Red Thread Retaining Compound
® Torx Drives: T15, T30 ® (-ring Lube
@ Panel Puller @ Masking Tape
@ fFlat Blade & Phillips Screwdrivers @® Shop Rags
® (oolant Drain Bucket ® \WireTies
©2021 Edelbrock LLC Brochure #63-15665

Part #15665, 156650, 15666, 156660 Page 1 Rev.7/6/21-BB



Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

Edelboock

SUPERCHARGERS

IMPORTANT WARNINGS

Before beginning the installation, use the enclosed checklist to verify that all components are
present in the box then inspect each component for damage that may have occurred in transit. If
any parts are missing or damaged, contact Edelbrock Technical Support (800-416-8628), not your
parts distributor.

WARNING: Installation of this supercharger will result in a significant change to the performance characteristics
of your vehicle. It is highly recommended that you take some time to familiarize yourself with the added power
and how it is delivered. This must be done in a controlled environment. Take extra care on wet and slippery roads
as the rear tires will be more likely to lose traction with the added power. It is never recommended to turn off your
\ vehicles traction control system.

Proper installation is the responsibility of the installer. Improper installation will void all manufacturer’s standard warranties
and may result in poor performance and engine or vehicle damage.

Inspect all components for damage that may have occurred in transit before beginning installation. If any parts are missing or
damaged, contact Edelbrock Technical Support, not your parts distributor.

Due to the complexity of the Edelbrock E-Force Supercharging system, it is recommended that this system only be installed by a qualified
professional with access to a service lift, pneumatic tools, and a strong familiarity with automotive service procedures. To qualify for
the optional supplemental warranty, it is necessary to have this system installed by a Certified ASE Technician at a licensed business,
GM Dealership, or an Authorized Edelbrock Installer. Failure to do so will void and/or disqualify any and all optional supplemental
warranties offered with this system. Please contact the Edelbrock Technical Support department if you have any questions regarding
this system and/or how your installer of choice will affect any warranty coverage for which your vehicle may qualify.

Any previously installed aftermarket tuning equipment must be removed and the vehicle returned to an as stock condition
before installing the supercharger.

Any equipment that directly modifies the fuel mixture or ignition timing of the engine can cause severe engine damage if used in
conjunction with the Edelbrock E-Force Supercharger System. This includes, but is not limited to: OBDII programmers, MAF sensors,
adapters and any other device that modifies signals to and/or from the ECU. Aftermarket bolt-on equipment such as underdrive pulleys
or air intake kits will also conflict with the operation of the supercharger and must be removed prior to installation. Use of any of these
products with the E-Force Supercharger could result in severe engine damage.

©2021 Edelbrock LLC Brochure #63-15665
Part #15665, 156650, 15666, 156660 Page 2 Rev.7/6/21- BB



Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

Edelboock

SUPERCHARGERS

IMPORTANT WARNINGS (CONTINUED)

Please employ proper towing etiquette when towing steep grades. Turn off Air Conditioner and avoid aggressive
towing behaviors to avoid any overheating that may occur. DO NOT exceed the manufacturer’s maximum tow rating
for the vehicle.

MINIMUM OCTANE RATING . . . . . .
(R+M)/ 2 METHOD 91 octane or higher gasoline is required at all times. If your vehicle has been

filled with anything less, it must be run until almost dry and refilled with 91
or higher octane gasoline twice prior to installation.

Any failures associated with not using premium 91 octane gasoline or higher,
will be ineligible for warranty repairs.

Itis also recommended that you check the Edelbrock Tech Center Website for any updates to this installation manual.
Please refer to the lower right hand corner to verify that you have the latest revision of this installation manual
before beginning the installation.

Tech Center: http://www.edelbrock.com/automotive_new/misc/tech_center/install/index.php

WARNING: Installation of this supercharger and charge air cooler may require removal and replacement of front grille, front
bumpers, or other pieces which may be equipped with Advanced Driver Assistance Systems (ADAS). ADAS Systems include, without
limitation:

« Forward Collision Warning
« Auto braking
« Lane Departure Warning
« Lane Keeping Assist
« Blind Spot Warning
« Rear Cross Traffic
« Rearview Camera
« And various other OEM ADAS Equipment
It is the responsibility of the installer to ensure that all necessary ADAS systems that require post-repair calibrations/targeting/aiming is performed by
qualified repair facilities. Edelbrock assumes no liability whatsoever with respect to any damages or losses with respect to any ADAS systems.

Edelbrock Authorized Installer Disclaimer

Authorized installers of Edelbrock products are independent companies over which Edelbrock has no right of control. Edelbrock LLC makes no claims
regarding the abilities, expertise or competency of individual employees of any authorized installer. Each authorized installer is an independent company
and makes its own independent judgments. Edelbrock LLC specifically disclaims any responsibility to any party including third parties for the actions, or
the failure to act, of individuals, agents or a company authorized in the installation of Edelbrock LLC products.

©2021 Edelbrock LLC Brochure #63-15665
Part #15665, 156650, 15666, 156660 Page 3 Rev.7/6/21- BB



Edelboock

SUPERCHARGERS

Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

INSTALLATION HARDWARE IDENTIFICATION GUIDE

(Parts Are Not To Scale)
BAG #1 - FEAD HARDWARE
Item PIN QTY. | Description Torque Spec
1 36-4056 1 Bolt, Hex Flange, M10 x 110mm 30 ft-Ibs
2 36-4015 1 Bolt, Hex Flange, M10 x 75mm 30 ft-lbs
3 36-1531 1 Bolt, Hex Flange, M8 x 35mm 18 ft-Ibs
4 82-0123 2 Washer, M10 N/A
5 82-0120 1 Washer, M8 N/A
6 38-0281 1 Idler Boss, M10 N/A
7 38-0282 1 Idler Boss, M8 N/A
BAG #2 - INTERCOOLER HARDWARE
Item PIN QTY. | Description
1 46-2155 8 Hose Clamp, 3/4
2 36-1552 6 Bolt, Hex Flange, M6 x 10mm
3 36-1507 1 Bolt, Hex Flange, M6 x 16mm
4 12-3032 2 Spacer, .625"0D x .250"
5 12-3034 2 Spacer, M12 x 10mm
BAG #3 - MANIFOLD/RUNNER HARDWARE
Item PIN QTY. | Description Torque Spec @ @
1 36-4053 12 | Bolt, Hex Flange, M6 x 40mm 8 ft-Ibs
2 36-1516 1 Bolt, Hex Flange, M6 x 20mm 8 ft-lbs
BAG #4 - AIR INTAKE HARDWARE
[tem PIN QTY. | Description @
1 46-2164 2 Hose Clamp, 5/8” @
2 51-4292 1 0-Ring, 2-154

©2021 Edelbrock LLC
Part #15665, 156650, 15666, 156660

Brochure #63-15665
Page 4 Rev.7/6/21-BB




Edelboock

SUPERCHARGERS

Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

BRACKET IDENTIFICATION GUIDE

(Parts Are Not To Scale)

SUV LTR BRACKETS
Item PN QTY. | Description Torque Spec
1 38-0279 1 Upper / Passenger LTR Bracket N/A
2 38-0278 1 Upper / Driver LTR Bracket N/A
3 38-3506 1 Lower / Passenger LTR Bracket N/A
4 38-3505 1 Lower / Driver LTR Bracket N/A
5 38-0276 1 Bracket, Surge Tank N/A
6 38-0227 1 Bracket, Water Pump N/A

©2021 Edelbrock LLC
Part #15665, 156650, 15666, 156660

Brochure #63-15665
Page 5 Rev.7/6/21-BB




Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

Edelboock

SUPERCHARGERS

HOSE IDENTIFICATION GUIDE
(Parts Are Not To Scale)

AIR INTAKE AND INTERCOOLER HOSES
Item PN QTY. | Description

1 22-1632 1 Hose, Driver Side PCV

2 56-1650 1 31"Hose, Passenger Side PCV 5/8”
3 56-0026 1 Surge Tank to Water Pump
4 56-0027 1 Water Pump to LTR @

5 56-0028 1 LTR to Intercooler

6 56-1527 1 3.25"Hose, Surge Tank to Intercooler

©2021 Edelbrock LLC Brochure #63-15665
Part #15665, 156650, 15666, 156660 Page 6 Rev.7/6/21- BB



Edelboock

Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

SUPERCHARGERS
WIRE HARNESS GUIDE
(Parts Are Not To Scale)
WIRE HARNESS
[tem PIN QTY. | Description

1 37-3609 1 Water Pump Harness

2 37-1599 1 ETC Extension Harness

3 37-1046 1 TMAP/LIN Bridge Harness

4 37-1021 1 MAP Sensor Harness Extension

Intercooler FE
Water Pump
EVAP Solenoid
" ' e
EVAP Engine Constant +12v
Harness Power Wire
WATER PUMP
HARNESS
Ground Strap
TMAP Sensor
R |
@ TMAP/LIN BRIDGE HAR-
NESS ®
MAF Sensor Engine MAP
Harness Extension
A\ \ \\
ETC Extension Harness 4
LIN Bridge
MAF Sensor

*Connector color may vary

©2021 Edelbrock LLC
Part #15665, 156650, 15666, 156660

Brochure #63-15665

Page 7 Rev.7/6/21-BB




Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

Edelboock

SUPERCHARGERS

LTR BRACKET & HOSE ROUTING DIAGRAM

IS5 |ntercooler Surge
= 'i“g‘

Spacers

Upper LTR Brackets

* Water Pump

©2021 Edelbrock LLC Brochure #63-15665
Part #15665, 156650, 15666, 156660 Page 8 Rev.7/6/21- BB



Edelboock

Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

SUPERCHARGERS
BEFORE THE SUPERCHARGER INSTALLATION: 4. Select the CONNECT TO VEHICLE icon (image #5) then click the VEHICLE
ECM EXCHANGE CONTROLS & SPECIAL FUNCTIONS icon (image #5a).OFFLINE:

Itis highly recommended to watch the ECM exchange video located at
https://youtu.be/ol _flI5m5Qs, or scan the following QR code.

The ECM exchange process should be successfully completed with a completely
stock vehicle to avoid unnecessary downtime. A GM MDI2 dealer scan tool and
SPS subscription will be required for the key fob immobilizer relearn. This can
be done through a GM dealer or installer with the proper tools. The HP Tuners
modified ECM will not start the engine until the immobilizer relearn has been
completed due to the OE anti-theft protocols. The following instructions will
detail the ECM exchange, software read and writing process.

Contact ECMcalibration@edelbrock.com with your name, address, phone
number and VIN to receive your UPS return label as soon as possible. Do NOT
remove the ECM yet.

STOCK ECM INFO GRAB

1. Create a new registration, then download and install the latest RTD
Flasher from: www.hptuners.com/myaccount/. Connect your RTD device to
your PCvia the supplied USB cable.

2. Open RTD Flasher, select HELP, and then resync interface.
HPFTuners x =+

ato RTD Flasher

File Flash

E_—L,‘ q@ Help F1

Licenze Information
|
| 4

() VCM Suite Information

Edit

Resync Interface

Ctrl+1

MPVI2 Verification Code

About

3. Perform the “REPLACE ECM” special function in VCM Scanner. Connect
your RTD/PC to the OBDII port, open VCM Scanner then turn the ignition ON
without starting the engine by holding the start button down for at least 10
seconds or until the light turns green.

©2021 Edelbrock LLC
Part #15665, 156650, 15666, 156660

Page 9

';,; VCM Scanner - Offline: 2020 GMC Sierra 1300, 5.3 L, 8 Cyl,

Leg File  Wehicle Tools  Help

== =)
7 &
ONLINE:

3; VCM Scanner - Connected: 2020 GMC Sierra 1500, 5.3 L, 8 Gy,
Vehicle

Layout

Leg File Layout Toocls Help

[=]= 2 0N &©

5. Under SYSTEM click REPLACE ECM (image #6) with your stock ECM still
installed and follow the prompt screens. Once the initial info grab from the
stock ECM is completed disconnect HP Tuners and your RTD from the vehicle.
The vehicle is still drivable at this point.

@ Controls and Special Functions ¥
Engine System

General

Change VIN

Replace ECM

6. Thevehicle should now be delivered to a GM dealer or shop with an MDI2
scan tool and SPS subscription. Disconnect the negative cable from the battery.
Remove the stock ECM from the front driver side wheel well. Ship to Edelbrock
via the enclosed packaging and emailed UPS return label. The ECM exchange
process will take 3-5 business days and is handled with overnight shipping to
reduce down-time.

ol .
#=To access ECM, remaove theldriver’s side inner
fenderwell:” — — i

Brochure #63-15665
Rev. 7/6/21 - BB



Edelboock

SUPERCHARGERS

Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

HP TUNERS UNLOCKED ECM INSTALL AND INFO TRANSFER

It is highly recommended to watch the ECM exchange video located at
https://youtu.be/ol fl15m5Qs, or scan the following QR code.

[=] 2

1. Install your HP Tuner ECM and reconnect the negative battery cable.

2. Connect your RTD/PC to the OBDII port, open VCM Scanner then turn the
ignition ON without starting the engine by holding the start button down for
at least 10 seconds or until the light turns green.

3. Select the CONNECT TO VEHICLE icon then click the VEHICLE CONTROLS
& SPECIAL FUNCTIONS icon. Under SYSTEM click REPLACE ECM and follow the
prompts this time selecting NO when asked if the stock ECM is installed. You
will receive a SUCCESSFUL message once the stock data is transferred to the
HPT unlocked ECM.

4. GMIMMOBILIZER RELEARN IS NOW REQUIRED BY DEALER SCAN TOOL TO
START THE ENGINE.

CRANK RELEARN AFTER IMMOBILIZER RELEARN STARTS ENGINE:

5. The check engine light (CEL) will be ON after the HPT ECM starts the
engine. This is normal as a crank relearn is required for the unlocked ECM.

6. Connect your RTD/PCto the OBDII port, open VCM Scanner then start the
engine. Make sure the engine coolant is at full operating temp, parking brake
is ON and wheels are choked.

7. With the engine running, select the CONNECT TO VEHICLE icon then click
the VEHICLE CONTROLS & SPECIAL FUNCTIONS icon. Under ENGINE select CRANK
RELEARN and follow the prompts screens.

Engine

Special Functions

Crank Releam

8. Turn the engine OFF then restart the engine to verify the CEL is OFF. If
the CEL stays ON and the only DTC is a pending/current P0315 redo the crank
relearn process. The truck can now be driven in stock configuration.

©2021 Edelbrock LLC
Part #15665, 156650, 15666, 156660

Page 10

9. IntheVEHICLE READER window, your vehicle’s ECM info should appear in
the first hardware section. Do NOT select any of the other drop-down menu
options. Edelbrock is ONLY modifying the ECM calibration. Select READ at the
bottom of the window to upload your stock ECM calibration.

4P Vehicle Reader X
Wehicle Information: 2020 GMC Siema 1500, 53 L, 8Cyl
VIN: 1IGTRICED4LZ 144323

Hardware: ES0 ECM, GM, 2019+

Qperating System: 12718524
Intermet

Read Entire ~

Hardware: e

Operating System: 24258476
Use High Speed

= [] Custom Key: (| 0000

Hardware:
Operating System: 84585870

w

LUse High Speed
bl [] Custom Key: (x| 0000

Status:

Gather Info

10. A TUNE FILE NOTICE WINDOW will appear when the stock ECM read is
complete, click OK. Name and save your stock ECM calibration.

P Vehicle Reade
Vehicle Information: 2020 GMC Siera 1500. 5.3 L. 8Cyl
VIN: 1GTRSCED4LZ144323

Hardware: ES0 ECM, GM, 2015+ Completed
Operating System: 12718524
Intemet

Read Entire ~
Hal Tune file notice X
Ops

The tune file you've just been supplied is a stock file because

! this control module is not readable. It is perfectly safe to use. k|

Ha If this module has been previously tuned, you will lose any

existing changes.
Ops
Read completed

Gather Info

11, Email the file to calibration@edelbrock.com and your RTD serial# for
the required supercharger update. Your supercharger calibration should be
completed in 24-48 hours but keep in mind newer applications can sometimes
require updates and extend this time frame.

Brochure #63-15665
Rev. 7/6/21 - BB



Edelboock

SUPERCHARGERS

Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

WRITING THE SUPERCHARGER CALIBRATION TO THE HP TUNERS ECM 5. In the LICENSE SELECTOR CONFIRMATION window, select YES.

1.

2.

The additional required credits to write the E90 ECM have been added to
your RTD. You will need to resync your RTD through the RTD Flasher for a total
of 10 credits.

Once you receive the updated EFORCE file via email, save it to your
PC. Open RTD Flasher, select FILE, OPEN, locate the updated EFORCE file

you just saved to your PC, and double-click it to open.

3.

4.
to apply the available credits for the EFORCE calibration.

ato RTD Flasher

File | Edit Flash Help

|a Open  Ctrl+0O ‘L @

= Close

Recent Files »

¢ Exit  Ak+F4

Select “SHOW LICENSE OPTIONS”
the bottom of the UNLICENSED FILE window.

In

() Do nat license
’I@ Specic 1A17041170413906 Credts: 4|

Unlicensed File X

You do not have a license for this file.

e HPtuners

- Wite this file into 3 vehicle.

Begardess of the icenses vou have, vou can:

- Read any vehicle

- Open and view any hpt tune file.

Licensing Notes:

When writing to a vehicle, we require that you have a icense for both the file you have
open, and the vehicle you are writing to.

[ the file you have open is one you just read out of a vehicle, the license for this file will
also apply to that vehicle as they are the same.

¥ the file you have open is one from a diferent vehicle. you may aiso be required to
license the vehicle on flash # you do not have that icense as well
+ In most cases this is the file you've just read from your vehicle. Licensing
this file will allow you to tune your vehicle an unlimited number of times. If
this is the case, you will not need to license your vehicle as well.

To license a file you must

connect your interface first. Show License Options
Vehicle .

the  LICENSE ~ SELECTOR  window,

License Selector x

You do not have a license to perform the curent action. Select the license you wish to
acfivate from the list below. Be carcful as this action cannot be undone. The credits
used will na langer be available for future use. I you have any questions please read
the help fles and contact customer support BEFORE activating = license

Source: C:\Users‘edeleon‘\Documents‘HP Tuners'Logs and

Credits Available: 4

VIN: 1GCGSCEN3H1211536
Serial:  1A17041170413906
Controller Type: GM E82

Purchase Credils Online Cancel

©2021 Edelbrock LLC
Part #15665, 156650, 15666, 156660

select

License Selector Confirmation *

Are you sure?
This action cannat be undone!
Used/Licensed credits will not be refunded!

—= I you are not sure, please contact support@hptuners com first. <—

Yes Cancel

————— Si--a

6. In the VEHICLE WRITER window, select WRITE to begin flashing the
EFORCE calibration. Follow the prompts to complete the flash.

& Vehicle Writer X
Tune Information:  C:\Users'\edeleon'\Documents\HP Tuners\Logs and Tunes\HPT-RTD_Ci
VIN: 1GCGSCEN3H1211536

Hardware: E82 ECM, GM
Operating System: 12683241

Intemet

Write Calibration w Dcummy;m

Status:
» =

7. Once the flash is completed, click CLOSE, turn the ignition OFF and
disconnect the RTD from your OBDII port. The engine is now ready to start once
the supercharger installation is complete!

& Vehicle Writer X
Tune Infomation:  C:-\Users\edeleon\Documents\HP Tuners\Logs and Tunes‘\HPT-RTD_C
VIN: 1GCGSCEN3H1211536

Hardware: ES2 ECM, GM Completed
Operating System: 12683241

at

0K
Intemet
Wiite Calibration v [ Custom Key: (x| 0000

Write completed.

=

Brochure #63-15665
Page 11 Rev.7/6/21-BB



Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

Edelboock

SUPERCHARGERS

SUPERCHARGER INSTALLATION 5. Carefully pull grille forward. Pay attention to these grille clip points
when pulling.

NOTE: Fascia removal will vary between models and trim levels.
1. Using a 10mm socket, disconnect the negative battery terminal.

6.  Using a 10mm socket, remove (9) bolts attaching the shutters to the
core support. Unplug shutter control harness. Unplug and remove the shutter
assembly.

2. Using aT15, remove the 2 screws on the hood release handle. Remove L
handle.

3. Remove 10 clips holding the upper radiator cowl in place. Remove
cowl.

Ty

©2021 Edelbrock LLC Brochure #63-15665
Part #15665, 156650, 15666, 156660 Page 12 Rev.7/6/21- BB



Edelboock

SUPERCHARGERS

Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

10.  Detach the wire harness from the two tabs located on the top of the
intake manifold. Unplug the throttle body and use a 10mm socket to remove
(4) bolts holding the throttle body to the intake manifold. Disconnect MAP,
EVAP connections and disconnect hoses.

1 AP 3
N 4
» o, i
A I
HROTTLE'BODY 4
0 OR ~. 5

11. Remove (2) hose clamps and (1) PCV hose from the intake tube and
remove.
3

©2021 Edelbrock LLC
Part #15665, 156650, 15666, 156660

12.  Disconnect the (3) harness retainers from the driver’s side of the

i

)

13.  Disconnect the (4) harness retainers from the passenger’s side of the
engine.

14. Using a 10mm socket, remove ten (10) bolts securing the intake
manifold to the cylinder heads.

15.  Pull the intake out to access the (3) rear harness retainers and detach
harness from rear of intake.

/”

Brochure #63-15665
Rev. 7/6/21 - BB



Edelboock

SUPERCHARGERS

Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

16.  Remove the foam insulation from the valley cover and discard. Clean the
intake port surfaces with a shop rag. Cover the ports with protective tape to
keep out debris

17.  Cut or remove the accessory belt. It will not be reused.
¥ _. I &

18.  Disconnect all plugs and cable to the alternator. Remove the inner
alternator bolt and discard. Loosen the outermost alternator bolt and swing out
towards the passenger side of the engine.

Vil

30LT:R

) ARL

19.  Remove the 0-ring gaskets from the factory intake manifold.

©2021 Edelbrock LLC
Part #15665, 156650, 15666, 156660

Page 14

20.  (lean and inspect the 0-ring gaskets and replace torn or damage 0-rings
as needed. Using a razor blade, or equivalent, remove the tips off all eight (8)

21.
B

22.  Remove the protective tape from the cylinder head. With the help from
an assistant, carefully lower the supercharger into the vehicle with the original
harness underneath the supercharger nose. A notch is located on the
supercharger nose to clear the factory harness.(Red circle) (VOTE: Do not hold
onto the bypass actuator when lowering the supercharger onto the
enineln the maniold to the engine before proceeding.

Brochure #63-15665
Rev. 7/6/21 - BB



Edelboock

SUPERCHARGERS

Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

23. Apply Blue thread locker to the eight (8) M6 x 40mm hex flange bolts
from Bag #3. Using a 10mm socket, secure the manifold to the engine using the
torque sequence below. Torque bolts to 4 ft-Ibs and then to 8 ft-Ibs. NOTE: A
short swivel-head 10mm socket is highly recommended.
6 4 2 8

O o O O

FRONT

>

10mm SWIVEL HEAD 0('["';_ _

24, Install EVAP and connect the supplied EVAP/Water Pump harness. Plug
the OEM EVAP plug into the harness and connect original EVAP hose. Install the
provided PCV hose from the driver side valve cover to the PCV port in the
suiercharger nose so that the barbs direct the hose to the front of tb_g‘t!%[ugk.

"Weiesoienon, \

EVAP
CONNECTION

25. Using O-ring lube, install the provided O-ring into the supercharger
inlet.

©2021 Edelbrock LLC
Part #15665, 156650, 15666, 156660

Page 15

26.  Reinstall the throttle body using the provided (4) M6 x 40mm bolts.
Check to make sure the throttle body is in the correct orientation. Plug in using

the provided throttle body extension harness.
= 2 —
" ¥4 i

—

5.3L

. &

YELLOW

27. Using a 15mm socket, remove the bolt holding the idler to the supplied
tensioner. This smooth idler will be reused later in the installation.

e -

28.  Using the same bolt removed in the previous step, apply Red loctite to
the bolt, and install the supplied grooved idler pulley to the tensioner using the
supplied M8 washer from Hardware Bag #1.

29.  Using a 15mm socket, install the tensioner using the supplied 75mm bolt
and a M10 washer.

Brochure #63-15665
Rev. 7/6/21 - BB



Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

Edelboock

SUPERCHARGERS

30.  Using blue Loctite place the M8 x 35mm bolt and M8 idler boss into the ~ 33.  (Optional) Using a 15mm socket, remove the vestigial grooved idler on
previously removed smooth idler from step 26. Install onto the boss pictured  the driver’s side of the engine. Or you may leave it installed. In either case it will
here. _ no longer be used.

34, Using a 1/2" breaker bar, install the provided belt as shown below.

31.  Place the M10 x 110mm bolt, M10 washer into the smooth idler provided
in this kit. Place the M10 aluminum boss onto the opposite side as pictured
below.

35. Using a sharp razor, carefully cut the hoses to remove the factory fittings
from the passenger side PCV hose.

o
-

32, Swing alternator back into position. Install idler and 110mm bolt
assembly into the alternator mount using Blue Loctite. This bolt will replace the
one that was removed earlier in this install. Reconnect alternator wiring.

¥ | 7

©2021 Edelbrock LLC - Brochure #63-15665
Part #1565, 156650, 15666, 156660 Page 16 Rev. 7/6/21 - BB



Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

Edelboock

SUPERCHARGERS
36. Install the fittings onto the provided 31”x 5/8” hose using hose clamps ~ 39.  Feed LTR hoses through the gap in the core support located on the
from hardware bag #4. driver’s side of the radiator. NOTE: Protect the LTR from damage from the lower

center shutt support

37.  Install the hose assembly onto the passenger side PCV port located on
the valve cover.

40.  Place rubber isolator onto pump as shown below.

ISLOT{UP)

p———

=

38.  Place hose clamps inboard of all hose ends. Install hoses onto the LTR as
pictured. Coolant ports should face the driver side with ports positioned
towards the rear. NOTE: Position hose clamp tabs so they face the rear of the
vehicle as to clear the LTR brackets.

TAB TOWARD REAR

!
i 1A

BPORTS'E MOUNTS

TOWARD,REAR

©2021 Edelbrock LLC Brochure #63-15665
Part #15665, 156650, 15666, 156660 Page 17 Rev.7/6/21- BB



Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

Edelboock

SUPERCHARGERS

41.  Install the pump assembly onto the lower LTR hose and clamp with  43. Install the surge tank assembly to the rearward port on the supercharger.
previously installed hose clamp. Next, remove the nut holding the lower airbox  Bolt the bracket underneath the supercharger lid.

to the fender support. Install the Water Pump bracket to the airbox stud and
slide the water pump and isolator onto the bracket. Reuse the factory nut to e M6 x T6mm

secure the bracket. Tip: It is easier to get the water pump into position behind BOLT and SPACER gm
the headlight before inserting the bracket.

' VAIER

WATERPUMP:
BRACKET
(RED)

- —TOP VIEW

I\ Hn

RED
- \ A 0P » ;
) ) OR ! B ..
: HJ 45, Using (4) M6 x 10mm bolts, install the LTR brackets to the LTR as
42.  Assemble the surge tank using hardware bag #2. ) shown.

2x/M6)x<10mm

SURGETANKs
BRACKET

M6 x T6mm
BOLT an_d S‘BACER

©2021 Edelbrock LLC 7 7 Brochure #63-15665
Part #15665, 156650, 15666, 156660 Page 18 Rev.7/6/21- BB




Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

Edelboock

SUPERCHARGERS

46.  Using the factory bolts, reinstall the factory core support braces over the . Open air box and insert the provided Air Filter at this time.
LTR brackets. Be sure to add the M12 spacers between the upper LTR brackets ' > 2 W
and core support brace.

L

SPACER

47.  Remove the MAP sensor from the factory intake manifold and mountit ~ 50. Install intake tube using the provided hose clamps and connect the
the supercharger nose using the provided M6 x 20mm bolt. Connect the MAP  passenger side PCV. . -
Extension harness to the MAP and connect the plug to the original MAP y é
connector.

DE PCV HOS Y _

ONNE ON S
51.  Replace air filter lid and connect the TMAP/LIN BRIDGE harness between
the MAF sensor and factory MAF connector. Tighten hose clamps on the intake
tube.

48.  Route the MAP extension harness over to the MAP sensor. Be sure the
cable isn't binding. Zip-tie to main hamess.

 TMAP/LIN BRIDGE

~ HARNESS

-

©2021 Edelbrock LLC " Brochure #63-15665
Part #1565, 156650, 15666, 156660 Page 19 Rev. 7/6/21 - BB



Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

Edelboock

SUPERCHARGERS
52.  Connect the TMAP\LIN BRIDGE harness to the TMAP sensor located on ~ 56.  Fasten the ground lead underneath the ground post located on the
away from pulleys.

the driver side of the manifold. passenger side fender near the hood shoc Secure wiring

53.  Place LIN Bridge behind air filter box and insert connector from harness.
Secure in place with double-sided foam tape or zip -tie to nearby hoses.

57.  Place supplied spacer from hardware bag #2 onto horn mount stud as
shown. Reinstall the horn assembly and fasten using the factory nut. Connect
horn harness at this time.

58.  Fill the surge tank with a 50/50 mixture of coolant and distilled
water. Reconnect the battery and key on the accessory power vehicle and
listen for the pump. Pump will automatically shut off if no coolant is flowing
through the pump. Check all connections for leaks. Read the guide on the last
page on filling the supercharger cooling system. Check the system for leaks
before reinstalling the front fascia.

55. Connect the Water Pump Harness 12V positive lead to the 12V positive
post located here. Double check that EVAP trigger connectors are connected.

oy

©2021 Edelbrock LLC Brochure #63-15665
Part #15665, 156650, 15666, 156660 Page 20 Rev.7/6/21- BB



Edelbrock Supercharger System
2019-2021 GM Truck 1500
5.3L and 6.2L Installation Instructions

Edelboock

SUPERCHARGERS

59.

Reinstall factory air box snorkel using the factory tree clip.
— = ' - - . W —

60.  Ensure that all electrical connections are secure. Reinstall front fascia in
the reverse order of removal.

Congratulations on the successful installation of your new Edelbrock E-Force
Supercharger System. If you have any questions, please call our Technical
Support hotline at 800-416-8628 and one of our technicians will be happy to
assist you.

CAUTION: Check ADAS sensors as described under the “Important
Warning” section in the beginning of this document.

©2021 Edelbrock LLC Brochure #63-15665
Part #15665, 156650, 15666, 156660 Page 21 Rev.7/6/21- BB



Edelbeock

SUPERCHARGERS

How to Prime the Edelbrock E-Force Intercooler Systems.

The electric water pump used on this Edelbrock E-Force Supercharger System has a built-in micro-processor that will vary pump
cycle speed when air bubbles are present in the system. If a significant amount of air is trapped in the system, the pump may cycle
at a slower speed and pulsations are likely to occur resulting in poor cooling performance.

For the best result, it is highly recommended to use a Radiator Cooling System Vacuum Purge and Refill Kit to properly evacuate the air from the
intercooler system before filling with a 50/50 mixture of coolant and distilled water. If one is not available, the following procedure will be adequate.

1.
2.
3.

Using the Lisle 24680 Spill-Free Funnel, or equivalent, secure the appropriate filler neck adapter to the surge tank.
Attach the funnel and fill with a 50/50 mixture of coolant and distilled water until the funnel is half full.

Turn the ignition to the ON position and listen for the pump’s electric motor to cycle. Air bubbles will begin to purge from the system as the
coolant level drops. Add coolant to the funnel as necessary. NOTE: Do NOT let the coolant level in the funnel run empty as this may introduce air
into the system.

To build more pressure in the intercooler system, try squeezing the intercooler hoses while the pump is cycling. Building pressure in the system
will help purge the trapped air from the intercooler system.

(ycle the ignition OFF and wait a few seconds for the pump to come to a stop.

(ycle the ignition ON again and repeat until the sound of the electric pump is continuous without any pulsation. NOTE: During water pump start-
up, it is normal for a slight pulsation to occur. Once the pump has reached its maximum cycle speed, no pulsations should be present.

Periodically inspect the water pump flow after a few drive cycles and re-fill the intercooler system as necessary.

Several drive cycles may be required to completely purge the air from the intercooler system. During a drive cycle, the intercooler system will
build up pressure as the supercharger temperature increases. Any residual air trapped in the system will gradually bleed out of the surge tank
as the system reaches a pressure above 5psi.

WARNING: Always avoid removing the surge tank cap when the engine is hot. The hot coolant is under pressure and may spray out causing burns.




